

## Government General Degree College, Mangalkote Semester I, III, V- 2025 CCFUP

Department: ENGLISH (Sem I: wef 29/08/2025)

		10 a.m	11 a.m	12 Noon-	Tiffin	1.15	2.15	3.15	4.15	
	MONDAY PAPER	11 a.m.	12 Noon	1.00 p.m.	Break	p.m2.15 p.m.	p.m3.15 p.m.	p.m4.15 p.m.	p.m 5.15. p.m.	
S E M	MAJOR		NAZIA							
E S T E	SEC									
R I	MINOR									
	MDC									
	AEC			ALL (KCS)						
	VAC					ALL (THEO RY) PKB	ALL (TUTO RIA L) PKB			
S E M	MAJOR			NAZIA						
E S T E	MAJOR							NAZIA		
R III	SEC									
	MINOR (VOCATIONAL)									
	MDC									
	AEC					ALL (DBS)				
S E	MAJOR					NAZIA				

M S T	MAJOR	NAZIA								
S T E R V	MAJOR									
	MINOR (VOCATIONAL)									
	INTERNSHIP									
	TUESDAY PAPER	10 a.m 11 a.m.	11 a.m 12 Noon	12 Noon- 1.00 p.m.	Tiffin Break	1.15 p.m2.15 p.m.	2.15 p.m3.15 p.m.	3.15 p.m4.15 p.m.	4.15 p.m 5.15. p.m.	
S E M E	MAJOR		тт							
E S T E R	SEC			NAZIA						
ı	MINOR									
	MDC					ALL arts (THEO RY) AK/SKK				
	AEC									
	VAC									
S E M	MAJOR			тт						
E S T E R	MAJOR	TT								
III	SEC					NAZIA				
	MINOR (VOCATIONAL)						ALL PKB/AK			
	MDC							ALL arts (THEOR Y) AK/DM		
	AEC									

S E M	MAJOR			TT				
S E M E S T E R	MAJOR	NAZIA						
V	MAJOR					тт		
	MINOR (VOCATIONAL)						ALL PKB/HKSM	
	INTERNSHIP							
					-			

	WEDNESDAY PAPER	10 a.m 11 a.m.	11 a.m 12 Noon	12 Noon- 1.00 p.m.	Tiffin Break	1.15 p.m2.15 p.m.	2.15 p.m3.15 p.m.	3.15 p.m4.15 p.m.	4.15 p.m 5.15. p.m.	
S E M E	MAJOR		тт							
S T E R	SEC									
ı	MINOR						тт			
	MDC			NAZIA						
	AEC									
	VAC					ALL (THEO RY) RKS/DM				
S E M	MAJOR	NAZI A								
E S T	MAJOR					тт		NAZIA		

E R	SEC			
Ш	MINOR (VOCATIONAL)			ALL RKS
	MDC		ALL arts (THEOR Y)	
	AEC		RKS/SKK	
		<u> </u>	<u>l</u>	
S E M	MAJOR			тт
ESTERV	MAJOR	тт		
R V	MAJOR		NAZIA	
	MINOR (VOCATIONAL)			
	Internship			
		<u> </u>	1	

	THURSDAY PAPER	10 a.m11 a.m.	11 a.m 12 Noon	12 Noon- 1.00 p.m.	Tiffin Break	1.15 p.m2.15 p.m.	2.15 p.m3.15 p.m.	3.15 p.m4.15 p.m.	4.15 p.m 5.15. p.m.	
S E M E	MAJOR					NAZIA				
S T E R	SEC									
ı	MINOR									

			1	
	MDC			
	AEC			
	VAC			
S E M	MAJOR			
E S T E R	MAJOR		NAZIA	
R III	SEC	тт		тт
	MINOR (VOCATIONAL)			
	MDC			
	AEC			
		L	ı	I
S E M	MAJOR			NAZIA
E	MAJOR	NAZI A	тт	
R V	MAJOR			
	MINOR (VOCATIONAL)			
				<del>                                     </del>

										]
	FRIDAY PAPER	10 a.m 11 a.m.	11 a.m 12 Noon	12 Noon- 1.00 p.m.	Tiffin Break	1.15 p.m2.15 p.m.	2.15 p.m3.15 p.m.	3.15 p.m4.15 p.m.	4.15 p.m 5.15. p.m.	
S E M E S	MAJOR	NAZI A								
E R	SEC									
ı	MINOR									
	MDC			π			ALL arts (TUTO RIAL) AK/RKS/ SKK/DM			
	AEC									
	VAC					ALL (THEO RY) AK/SKK				
S E M	MAJOR			NAZIA			тт			
M E S T E R	MAJOR		тт							
R	SEC									
	MINOR (VOCATIONAL)							ALL PKB/DM		
	MDC									
	AEC									
	I	1	l	l			I			
S E M	MAJOR	тт								
S E M E S T	MAJOR					тт				

E R V	MAJOR	NAZIA				
	MINOR (VOCATIONAL)			ALL HKSM		
	INTERNSHIP					

	SATURDAY	10 a.m 11 a.m.	11 a.m 12 Noon	12 Noon- 1.00 p.m.	Tiffin Break	1.15 p.m2.15 p.m.	2.15 p.m3.15 p.m.	3.15 p.m4.15 p.m.	4.15 p.m 5.15. p.m.	
	PAPER							-		
S E M E	MAJOR			тт						
S T E R	SEC									
1	MINOR									
	MDC									
	AEC					ALL (KKD)				
	VAC									
S E M	MAJOR									
E S T E R	MAJOR		тт							
III	SEC									
	MINOR (VOCATIONAL)									
	MDC									

	AEC				ALL (KCS)		
S E M	MAJOR			TT			
S E M E S T E R V	MAJOR						
V	MAJOR						
	MINOR (VOCATIONAL)						
	INTERNSHIP						



Officer-In-Charge GGDC, Mangalkote

Tahira Tashneem

Tahira Tashneem Head, English Department

Uffrak tor, Einha Maha Patra,

Convener, Routine Sub- committee for Arts GGDC, Mangalkote

Faculty: English-TT- Dr. Tahira Tashneem (HoD), NZ- Nazia